Svew TATAT3, 2022-05-30

/l, D.) Se bol(

b (x+41 —yx— _ 4 2 1, %
J fmw*” J(x#l ~ (1) “dx = g (e 7 (-1 €

2, ﬂ) S& bakr
{0) ‘p(x,j)'—'-)(ﬂ-«—“’ Saft x:2+h,3=’l+|<,zﬂ|rmf £>0.
2+h _
et - £z = [2 vz bk 255 =8 [ = |(akhe 2k 3T [ €

b
< 114kl lh] 20kl + l!;le ¢ fomlig1] & 2fhl+2lkl+ lnl+ [kl <fuimieg/ <z

Sa o l(x,j)—-(z,ﬂl < § = min(1, 7,) - | €ouy) - f(2)] < €

3. a/ S5& bok. 3
— , () * (o
b/ ‘F(K‘S) = { )(+g / ’(fj) 0) | -((K,O):X ger 'C,Z(0,0)-‘:?'
0, (ry) =0 flo,y) =0 ger £ (00) = 0.
_P '!/\, _ _ N _ 2 e
(0+4 O+k) O-Th-0k = — I,l,kkl = m (_—’rf/\'L‘A:(Z\Z/z = (h*+k?* P(M’k) /

men /->(ln )40 da (k) = 5(0'0) 't‘;j /)U/\ ) e _1/13/7_ SZ-
f ar “’H'e i Feventierbeo .

H: 4} S& bo

W 1 2 Alict medely, satfsen | s
N Sun——— Y V) S 9 v, sedlsen av
f \[_-'—1—& ((X“'@)z *e"()(*'e)z.( ) /OS@Q“ o()’\ @ bc»ov/Y;Z X /
_ gkl ZEVR P oo
IR GO Py =’ g '
5. a) Se bok.
IO) ‘F(")-—S‘ >,\/>4>r‘|. ‘F/(’L)—"‘E_C—“Sj[ Sa l_p’(y_)‘é" QQZ X>//],

Medelvidessatsen gert [fea— fy)| = [#@)|lx-y] < eyl Ji vy 21
/]
¢o £ 2 likbormigt lontinuerlig,

G, Se bok.



